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Errata for A Logical Introduction to Proof

. On page vi, on the line preceding the quotes, replace “easily not” with “not easily”.
. On page 11, Exercise 2. The sentence “Express you answer in English.” should be “Express your answer in English.”
. On pages 21 to 22, in Example 4 the three occurrences of the word “fiction” should be replaced with the word “poetry.”

The italics below identify the correct replacement.

Example 4. Analyze the logical form of the argument below. Identify the premises and the conclusion. Show that the
argument is invalid.

Paula and Ernest will not both win the award for best poetry.

Ernest will win either the award for best poetry or for best nonfiction.
Paula will not win the award for best poetry.

Therefore, Ernest will win the award for best poetry.

Solution. First we shall symbolize the given argument. Let P represent the statement “Paula will win the award for
best poetry” and let E represent “Ernest will win the award for best poetry.” ®

. On page 30, in item 4 of Example 1, replace “y = 10” with “y = 11".

. On page 30, in item 4 of Example 1, replace “x = 1" with “x = 3”.

. In the the lower half of page 52, on the line identified as (2.3) insert the word “is” between “x” and “an”.

. On page 48, third line from the bottom, replace “On other hand” with “On the other hand”.

. In Table 2.1 on page 58, the first lines of (Universal Modus Ponens) and (Universall Modus Tollens) are missing a right

parenthesis “)”.

. On page 59, the first lines of (Converse Error) and (Inverse Error) are missing a right parenthesis )”.
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On page 69, just above Example 1, replace “when p > 0” with “when p > 0”.

On page 72, replace “n =0, 1,2,3” in the 4th line from the bottom with “n =1,2,3”.

On page 88, Exercise 9 is missing a period at the end of its statement.

On page 94, in the last proof diagram replace N with Z.

On page 105, on the bottom of the page, the formula n> +n + 1 +2n +2 should be n> +n+2+2n+2.
On page 106, on the top of the page, the formula (n? +n+1) +2(n+ 1) should be (n?> +n+2)+2(n+1).
On page 156, in Exercise 1 delete “If A C B, then”.

On page 163, in Exercises 9(a) and 9(b), replace “indexed set I”” with “index set I”".

On page 164, replace “Russel’s paradox” with “Russell’s paradox”.

On page 183, in the line above Theorem 6.2.14 use “x> +x3 = y” for “x> 4+ x* = y”.

On page 196, on the last line of the second paragraph replace “set countably” with “set is countably”.
On page 199, on the last line of the footnote replace “f;: A; — N” with “f: A; — N”.

On page 207, in Exercise 30 replace “g(a) = {b,c,g}” with “g(a) = {b,c,d}".

On page 234, in Example 3 replace “are a minimal” with “are minimal”.
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On page 266, in Example 10 replace o = (526341) with 0 = (324561)'

On page 268, in last sentence of first paragraph, replace ‘c = 7,7;” with ‘c =1717".
On page 269, in the first two lines of the paragraph after Definition 8.4.13, replace ‘192’ with ‘48’.



